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The figures in the margin indicate full marks
Jor the questions
1. o[ 2P ot SeEidl Tew fi 1x8=8
Answer the following as directed :
(@) QTR (TR &7 411 |
Supply is a
0 &=
-stock
(i) o wF R
flow and stock

concept.
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( 2 ) T
o ) a (3)
e -
flow (d) alwb I @AY
(iv) € e T What 1s a budget line?
None of the above
’ (e) mﬁﬁazwm%qmz%%wm|
| (Qﬁv%’w'aﬁsﬁ'“') | (&% 1 wrag Frar )
( Choose the correct answer ) _The indifference curve is convex to-the
(b) PR WA crae R RSErRee YT = | ' origin.
= (Eﬁﬂ%‘a‘xﬁm) S . ( Write True or False )
Iz=—ase of inferior goods, the income L () <0 TR Rew o1 TR ¥ Te S W
elasticity of demand .is negative. ’% ', 3Pt & T | .
| ( Write True or False ) 7 The cost of one thing in terms of the
) @& ToeIET SRS S @, @l " alternative given up is known as
The consumer is in equilibrium when (i) S »
0 MU N & . ‘ | _ » production cost
0,73, | . - (E) ST W
physical cost-
.. MU, P, ~
(@) P (iii) 4TS I
y y . -
real cost
fi) SE =2 | | (i) 1 T
MU, B . opportunity cost
(iv) €13 sore 7z . . | - ‘ (@ﬁ@‘«zﬁaﬁ%ﬁw)

None of the above
( Choose the correct answer )

(@ ‘oS SRR aReER TT Pes B @2
" What do you mean by Marginal Rate of
24P/516 o ( Continued ) | Technical Substitution (MRTS)?

( 0% Tethr AR Sfenear )

( Choose the correct answer )
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(h) 14uﬁzuﬁwwmm'fff§ﬁmm

A (@ﬁﬂ%ﬁﬁw)

The AR curve under perfect compet1t10n
is perfectly elastic. -

( Write True or Fa.lse )
o) R @i wiRe Ry eome oy G B
4x4=16
Write short notes on any four of the
foll—g : :
(a) ORFR P

Determinants of demand

'(b) oIt Rfda scesn

Criticisms of the law of demand
(€ TR TS T Roafier -
Economies of large scale production
(d) " Reeme

Price discrimination

fe) «coiba I\ LIMBPIR

Characteristics of monopoly market

3. mwiﬁmﬁﬁv‘aﬁmwﬁaw

awr Bﬂi‘ﬂ m o IR O] w;ﬁs PRI T
2+10=12
What is meant by demand schedule? Draw a

demand curve from an imaginary demand
schedule and explain its shape v
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T/ Or
IR 73 RfSmrree R 2 wiftnR v Ridgrorer ger
CORERT %onmmgm FI ‘i’ﬂﬁ FEFPZ A
AL 2+6+4=12

What is price elasticity of demand? Explain
the factors that influence price elasticity of

‘demand Dlscuss the importances of price
elasticity of demand.

TSR SIRPTER TR ol | P @1 4R
RS CorrereR SIS M I | 2+9=11
Define consumer  equilibrium. Explain
consumer’s equilibrium with the help of
indifference curve approach.
- w7/ Or

SR 2O ST R e ikl ot | R 7 o
98 T e Boe o TS W e B
T -~ 4+7=11

Define income effect and substitution effect.
Explain the income effect in case of normal
and inferior goods with the help of suitable
TERAMT  (F 7 e - Ew  REPER
AT 41 | 2+9=11

What is 1soquant curve? Dlscuss the features
of isoquant curves.
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9331/ Or

Beome. Sy STCHIsFR v’y wid o1 9w
T 2SI SIRASIF FHELATH (I SF T
IR TS [ 7| - 2+49=11
Write the meaning of ‘optimal combination’ of
factors of production. Explain with the help

of isnquant and isocost lines of the
equ=——um of a firm.

. TR w1 e | yele W @we FRe

=, I T g AfeEPer ST 99 Beorm

A1 Mfere R @9 ToRT F° W 332
2+6+3=11

Define normal price. Explain how normal
price is determined. Why does a firm under
perfect competition make only normal profit
in long run?

%3r / Or
BTG TETR BT S zelT ATkl Seimiserz T
T | I 1F WIS 93 GRToiBAn @M At
R OF TR AR Ffd 3032 4+7=11
Explain the factors that give rise to
monopoly. How does a monopolist determine

equilibrium price and output in short and
long run?
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qoofioa  afermifel TERT T BT oA

ANeT IR B G¥q oo AR

TRFC AT SIFTgel A IS, WA 90|
O SRES GFEHA  ARECR S 93
ARBICH I THCIRTF oS 9&q FEA?  2+6+3=11

Define monopolistic competition. Illustrate
how a firm under monopolistic competition
reaches its equilibrium in the short run.
Does a firm in equilibrium under
monopolistic competition always make
supernormal profit?

%31/ Or

7 Reeror Ta] 2 GaREpz B R 2 T Reger
I R @9 WE G @I T WF G
a1 e = =, It 740 4+7=11
What are the main characteristics of
oligopoly?  Explain. _ the price-output
determination process under price
leadership in oligopoly.
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